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3.1 HETME
o EFRAMTE: P(D)x = f(1).

P(D)=D"+a; D" '+ .-+ ap,_1D + ay,.
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(5) 570+ £20) = 555 (D) + 552

(c) ®P(D) = Pi(D)P2(D), W
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JINRBRRETFEEA:

(1) P(D)eM = eMP(N)
(2) P(D?)cosat = cosat - P(—a?).
(3) P(D?)sinat = sinat - P(—a?).
(4) P(D)(eMu(t)) = eMP(D + No(t). (B, 1\
WE:  (2) e =cosat +isinat, e ' = cosat —isinat.
cosat = M sinat = M
2 ’ 29
P(D*) cosat = 1eio‘tP((ioe)2) + %e_io‘tP((—z’oz)Q)

= §P(—a2) [e"! 4 e~ = P(—a?) cos at.
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AMAEHAEFBHEAXZGIEHNTHEE FEHAK:

0 pi57 = o (P £0)
(i) P(EQ) cosat = Ca?) cosat, (P(—a?)#0)
(iii) P(;) sinat = o) sinat, (P(—a?) #0)
1 1

(2): P(D?) {P(_a
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EH] (4) -

v(t)] — MP(D+) [ 5 D1+ )\)U(t)] — My(t).

(5) B fi(t) =bo+ bt +---+btk,  P(0) =a, #0, M

1
mfk(t) = Qk(D) fi(t),
HQrD)=co+aD+ -+ ckaz%P(lD)%ED = OFfHE KB R
A FTE + 170,
TIE B L - Pit) =co+ert+-+eptt + oottt

—— = Qi(D) + cg1 DM+ -+
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KA (D : P(D)z = fi(t), fu(t)NERZIA.
(1) P(0) #£0 (X =O0RRIIEMR , REN

1

P(D) fk(t) = (Co +ca D+ -+ Cka)fk(t)

i) (t) =

(2) P(0) =0, H)=0RkESFMEMR, BIP(D)= D*Q(D),
MQ(0) # 0.
) = 3 | g 0]
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Bi3.1 2+ =1t>—t+2.
zo(t) = (1=D?)(t2 —t+2)=t>—t.

3.2 " —x=t.

1 1 t—i—l 1
2D +1 2D -1

#13.3 2"+ =1++¢2.

t = —1.

xo(t) =

1 9y 1 1 oy _ 1z o
zo(t) = m(lth )= 51+7D(1+t )—gt t* + 3t.
#13.4 (D — )™z = f(t), mNIEEBE.
20(t) = g ) = e e )
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KR AU : P(D)x=eMfi(t), fi(t)NkRZHR.

1
mfk(t)

ro(t) = gy filt) =

#13.5 2’ — ' + 62 = 2e*.

3.6 2" — 22" + x = 5tet.
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KA AN -
P(D)x = cosat- fi(t) (1)
P(D)x = sinat- fi(t) (2)
Frh P (D) f.(t) ) R BB AL/

o BIEHBIHIE: P(D)x = ' fi(t).
BWHAF MR 2o (t) = 21(t) + izo(t), W

P(D)x1(t) + iP(D)x2(t) = cosat - fr(t) +isinat - fr(t).
P(D)xy(t) = cosat - fy(t), P(D)xa(t) =sinat - fr(t).

o HiBh I RERF AR wo () (0 SR KR B 20 30 A2 05 12 (1) A0 (2) BV RS A
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3.8 2" — 3z’ + 22 = cos 2t.

1
Vif#: zo(t) = ~30 cos 2t — 2—30 sin 2t.

#3.1 P(D?)x =cosat. (BP(D?)z = sinat)

P(—a?)

(3) FP(—a2) £ 0, Mag(t) = —— cosat.
#iP(—a?) =0, H-a?RP\)HrEMR, N

P(A) = (A +a”)"Q(\), Q(—a?) #0
P(D?) = (D + o®)"Q(D?),

1 1 1 1
- orvarr (g o) = gray e oo
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ZIRMBTRE: (D? +o?)'z = el

1 ot iact 1 0t
0= = iy
11 L 11
— ot T — ot 1
“ D [(21'@)1”] “ @ia)y Dr

— ot 1 i
(2ia)" 7!

LW eSS )
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%13.9 (D* + 1)z = 5sin 2t.

xo(t) = % sin 2¢.

#13.10 2" 4+ z = sint.

1
xo(t) = _§t cost.

#13.11 2" — x = sint + cos 2t.

1

1
xo(t) = —=sint — Scos2t.

2
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o =2x+y+e? +3t—1,
Y =+ 2y + 2e* + 9t — 6.
SRETFRENA, HEy, B:

(D? —4D +3)x = 2 + 3t — 1

x = Chet +C’2e3t — 2%+t 41

() November 21, 2016 15 / 17



113.13

d:L’l d:L‘g "
- e T = —
& !
L1 L2 2t
W E + 3.%'1 — X9 = €

SRETHAX, HEx, H:

(D3 —D?>+D 1)z =22 +t+1

2
z1(t) = crel + cocost + cgsint + 56% —t—

ﬁﬂﬁi}?m ?

2
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P 91: 1((1), (2), (6), (7));
P92: 2((1), (2));

P92: 6((2)).
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